
Solve the following addition and subtraction problems. 

2nd Grade Math Worksheet
Name: Date:

1

3 + 14 =
2

20 - 6 =

+

5

Josie has a ribbon that is 35 
inches long. She receives an 
additional 18 inches of ribbon. 
How long is the ribbon now 
(in inches)?

6

Erin has a toy bug that is 40 
centimeters long. She gets another 
toy bug that is 15 centimeters long. 
What is the total length of the two 
toy bugs (in centimeters)?

Use the greater than symbol >, less than symbol <, or equal to symbol = 
to answer the following questions

3

Compare: 245     536 Compare: 843     408
4

7

Draw a shape that has three 
equal sides. What is its name?

8

Draw a shape that has four equal 
sides. What is its name?

35 inches

18 inches

40cm 15cm


